
� 正負の足し算引き算 19-1 �

正負の足し算引き算 19-1

次の計算をしなさい。

(1) (+14) + (−5) = (2) (−9) + (−1) =

(3) (+100)− (+11) = (4) (−55)− (−36) =

(5) (+963)− (+1738) = (6) (−666) + (+728) =

(7) (−9388)− (−9862) = (8) (+4551) + (+4285) =

(9) (+1.4)− (+0.7) = (10) (+0.4) + (−1.1) =

(11) (+7.8)− (+7.6) = (12) (−3.5)− (−2.3) =

(13) (−81.5)− (−19.9) = (14) (+128.1) + (−46.6) =

(15) (−970.1)− (−1200.4) = (16) (−402.5)− (−231) =
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� 正負の足し算引き算 19-1 �

正負の足し算引き算 19-1

次の計算をしなさい。

(1) (+14) + (−5) = 9 (2) (−9) + (−1) = −10

(3) (+100)− (+11) = 89 (4) (−55)− (−36) = −19

(5) (+963)− (+1738) = −775 (6) (−666) + (+728) = 62

(7) (−9388)− (−9862) = 474 (8) (+4551) + (+4285) = 8836

(9) (+1.4)− (+0.7) = 0.7 (10) (+0.4) + (−1.1) = −0.7

(11) (+7.8)− (+7.6) = 0.2 (12) (−3.5)− (−2.3) = −1.2

(13) (−81.5)− (−19.9) = −61.6 (14) (+128.1) + (−46.6) = 81.5

(15) (−970.1)− (−1200.4) = 230.3 (16) (−402.5)− (−231) = −171.5
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正負の足し算引き算 19-2

次の計算をしなさい。

(1) (−16)− (−7) = (2) (+11)− (+4) =

(3) (+22)− (−51) = (4) (+32) + (+56) =

(5) (+194) + (−826) = (6) (+1071) + (−618) =

(7) (−9428) + (+17255) = (8) (−2468)− (+7118) =

(9) (+0.9) + (−0.1) = (10) (+1.1) + (−0.3) =

(11) (−17.1)− (−7.2) = (12) (−1.9)− (+0.1) =

(13) (−54.2)− (−2.6) = (14) (−85.9) + (+135.3) =

(15) (−624.9) + (+1177.6) = (16) (−624.2)− (+522.3) =
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正負の足し算引き算 19-2

次の計算をしなさい。

(1) (−16)− (−7) = −9 (2) (+11)− (+4) = 7

(3) (+22)− (−51) = 73 (4) (+32) + (+56) = 88

(5) (+194) + (−826) = −632 (6) (+1071) + (−618) = 453

(7) (−9428) + (+17255) = 7827 (8) (−2468)− (+7118) = −9586

(9) (+0.9) + (−0.1) = 0.8 (10) (+1.1) + (−0.3) = 0.8

(11) (−17.1)− (−7.2) = −9.9 (12) (−1.9)− (+0.1) = −2

(13) (−54.2)− (−2.6) = −51.6 (14) (−85.9) + (+135.3) = 49.4

(15) (−624.9) + (+1177.6) = 552.7 (16) (−624.2)− (+522.3) = −1146.5
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正負の足し算引き算 19-3

次の計算をしなさい。

(1) (+11)− (+5) = (2) (−6)− (+2) =

(3) (+143) + (−47) = (4) (−80)− (−130) =

(5) (+762)− (+316) = (6) (+408) + (+933) =

(7) (−10949) + (+2491) = (8) (−2181) + (−7104) =

(9) (+0.7)− (+1.4) = (10) (−1.2)− (−0.7) =

(11) (−5.7) + (+3.9) = (12) (−9) + (+18.1) =

(13) (−35.7)− (−12.7) = (14) (−165.6)− (−69) =

(15) (+369.6) + (+756.8) = (16) (−310.6) + (+801.8) =
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� 正負の足し算引き算 19-3 �

正負の足し算引き算 19-3

次の計算をしなさい。

(1) (+11)− (+5) = 6 (2) (−6)− (+2) = −8

(3) (+143) + (−47) = 96 (4) (−80)− (−130) = 50

(5) (+762)− (+316) = 446 (6) (+408) + (+933) = 1341

(7) (−10949) + (+2491) = −8458 (8) (−2181) + (−7104) = −9285

(9) (+0.7)− (+1.4) = −0.7 (10) (−1.2)− (−0.7) = −0.5

(11) (−5.7) + (+3.9) = −1.8 (12) (−9) + (+18.1) = 9.1

(13) (−35.7)− (−12.7) = −23 (14) (−165.6)− (−69) = −96.6

(15) (+369.6) + (+756.8) = 1126.4 (16) (−310.6) + (+801.8) = 491.2
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正負の足し算引き算 19-4

次の計算をしなさい。

(1) (−6)− (−7) = (2) (+4) + (−9) =

(3) (−78) + (+46) = (4) (−121)− (−65) =

(5) (−239)− (+722) = (6) (−583)− (−1173) =

(7) (+6145)− (+9964) = (8) (+9136) + (−16060) =

(9) (−0.2)− (+0.4) = (10) (+0.6) + (−0.9) =

(11) (+7) + (−0.2) = (12) (+8.4) + (+5.5) =

(13) (+7.8) + (+17.3) = (14) (+18.2) + (+92.4) =

(15) (+515.2)− (−910.4) = (16) (−971.8)− (−1870.1) =
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正負の足し算引き算 19-4

次の計算をしなさい。

(1) (−6)− (−7) = 1 (2) (+4) + (−9) = −5

(3) (−78) + (+46) = −32 (4) (−121)− (−65) = −56

(5) (−239)− (+722) = −961 (6) (−583)− (−1173) = 590

(7) (+6145)− (+9964) = −3819 (8) (+9136) + (−16060) = −6924

(9) (−0.2)− (+0.4) = −0.6 (10) (+0.6) + (−0.9) = −0.3

(11) (+7) + (−0.2) = 6.8 (12) (+8.4) + (+5.5) = 13.9

(13) (+7.8) + (+17.3) = 25.1 (14) (+18.2) + (+92.4) = 110.6

(15) (+515.2)− (−910.4) = 1425.6 (16) (−971.8)− (−1870.1) = 898.3
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正負の足し算引き算 19-5

次の計算をしなさい。

(1) (−9) + (+14) = (2) (+2) + (+9) =

(3) (+97) + (+60) = (4) (+74) + (−95) =

(5) (−1076)− (−607) = (6) (−885)− (−1381) =

(7) (−8152)− (−10000) = (8) (−8281) + (−7535) =

(9) (−0.1)− (−1) = (10) (+0.8) + (−0.7) =

(11) (+9.1) + (−17.3) = (12) (+16.7) + (−8.2) =

(13) (+98.8)− (−92.9) = (14) (+53.3)− (+55.1) =

(15) (−945.4) + (−328.4) = (16) (+364.3) + (−605.5) =
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正負の足し算引き算 19-5

次の計算をしなさい。

(1) (−9) + (+14) = 5 (2) (+2) + (+9) = 11

(3) (+97) + (+60) = 157 (4) (+74) + (−95) = −21

(5) (−1076)− (−607) = −469 (6) (−885)− (−1381) = 496

(7) (−8152)− (−10000) = 1848 (8) (−8281) + (−7535) = −15816

(9) (−0.1)− (−1) = 0.9 (10) (+0.8) + (−0.7) = 0.1

(11) (+9.1) + (−17.3) = −8.2 (12) (+16.7) + (−8.2) = 8.5

(13) (+98.8)− (−92.9) = 191.7 (14) (+53.3)− (+55.1) = −1.8

(15) (−945.4) + (−328.4) = −1273.8 (16) (+364.3) + (−605.5) = −241.2
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